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(1) FEAEKR
X4 FEH FEEH BEHK
TH24F | SHxE | BEK | FH2F | THTE | BEH | FH2F | SHRE | BEK
B4 86 76 10 2 3 -1 88 82 6
=S R 1,577 1, 871 -294 23 22 1 1,759 2,128 -369
i =) 146 194 -48 1 1 1M 210 -39
B 1,809 2, 141 -332 26 26 2,018 2,420 -402
= 194 215 =21 4 1 3 210 246 -36
® ® 357 414 =57 17 11 6 395 463 -68
i B 44 41 3 1 4 =3 48 39 9
it 595 670 -75 22 16 6 653 748 -95
a it 2,404 2,811 -407 48 42 6 2,671 3, 168 -497
O RHEHOFHIK. HHEOFEHDHSHEREL TS,
(2) EBBIKAIFEEIKER _ _
R %M
X5 i SEEH i SEEH
SH2%F | SHaE | SH2F | SHE | $H2F | SHxFE | SH2F | SHxE
% |1E 5 288 307 5 136 119 1 1
=% D t 594 679 6 6 152 151 5 1
= b 882 986 11 6 288 270 6 2
R = =] + & 131 125 1 39 63 1 2
h — i 73 79 8 5 19 21 2 2
=8 [ £ 723 951 7 14 249 316 13 10
=1 it 1,809 2, 141 26 26 595 670 22 16
O EEBKITE. BHROXZERTE{HRELTWS,
() FHFERIRIFELEIKR
B R
X5 3 SEEH i SEEH
SH2%F | SHaE | $H2F | SHE | $H2F | SHxFE | SH2F | SHxE
xt T m 27 30 21 37 2 1
L b & 86 75 5 5 94 68 i 1
&= z D t 60 81 1 22 39 1 3
it 173 186 5 6 137 144 14 8
B & H X BH M 37 414 5 1 87 98 1
1E M| & % 47 68 3 5 11 18 1 2
B % 432 585 2 126 172
% H = Ly L] 370 406 3 3 94 86 1
* s #r B 111 116 60 52
" V. #r B 84 91 1 7 1
< D t 165 210 1 2 51 66 1 1
it 1,209 1,476 8 12 349 405 8 3
Bl OB M, 5 B 56 65 8 7 22 23 4 5
& it 1, 809 2,141 26 26 595 670 22 16
O BEMEL. BEARLE(HELTWS,
(4) RIEZHROREKER _
R 7=
X5 LEHEH EEH LEEH SEEH
SH2FE | SHxE | $H2F | SHxE | SH2F | SHE | SH2EF | SHTE
4] R 8 8 1
F|/h = 4 33 45 1 7 7
#t [ =2 4 35 31 9 9
/N it 76 84 1 17 16
= ® & 68 75 13 18
= =3 & 432 537 1 2 218 234 1 1
= & & 939 1,093 20 17 213 194 15 8
= F b 740 - 316 420 1 180 193 1 1
= &b 3407 - 744 889 9 10 126 130 1
= = N A 9 328 396 3 5 103 105 2
8 g — L] 162 174 4 4 1Al 72 1
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